E AR A S B DA 3] |
novotechnik

Siedle Group

LS1 R EL AR RER
IR RN ERE, NOVOPADIER A
wEREO, FEMEE, TEEREAHA100 mm

2R J NOVOPAD il £ 4 A P 45 fnh v R X 00 5 J B L 5 4%
A PCB AR, WESMHE, T E&, KSR
L% € TN Y

BT Wit p 4B iR e R S, SR R S R D
J1. MR, REMIMEETHE LS EE A TG, HiAf )5
AL BRREBHH T AR, BB R S T L

P Teach-In Dy REMY {5 5 AL BE 25 B2 RS W IO i e, L i 240
HEE S .

AR AL AR 08 T4, TR, BAREFMESMNE,
PR SRR, R IR A R E, WA B I

BESICEMW,

R

o MFEMK, WARPMASE, BITKETE 100X 10° Kigs)
o SbhsEikil e, 18x 18 mm

o W SCHERLAT

o i FH A 2

o A3¥EE 0.05% 5 0.1%

o MM, wElik £0.15%

o Rtk HL I B A S g

o 4 Teach-In ZhfE, LED 4TIREE S
o BT

o T A Y HL B A B 7 X jﬁ : —
% ES ] g e
HoAF A, AISI 303, B I ERESE B, IR M2.5x6
0 2 ke v A M2.5 AL, TEAZRE R HIER
EiR N s 2 M 4 T
] 4 B JLT PCB #i) NOVOPAD Hi, J& Ji Bt
HAR R 35 M8 x 1 Bl s, btk
3% PVC BhilikHL4E, 3x0.14mm?, K 2%
B2k A ASIC [ 4E kL % SMD

$HEEHE 1E:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926

p Mk :www.cnnovo.cn, www.cnnovo88.com
HEF8: nwtk5@cnnovo.cn
BEZA:FET13114891271



R F 3 KA 50 B LB ARA TR 4]

novotechnik

Siedle Group
Rt (Z-45) Wik (23-31) FRAER (Z-45) Wik (23-31)
3 8 . b 3 N “
& 4 Al S = &
1
| < | <
DIN EN ISO 1207 o DIN EN ISO 1207 N
M4x10 1,6 45 M4x10 1,6 45
%R 18 HLE 18
#x K140 Nem #ix K140 Nem
M2,5x5
M2,5x5
I
m—H
©
N =l .
[T
|I' HHF A |
OFF 23 Uk 72
B BB T @l LIS o @] L, g =
0 é w0 8
~ Z-45 ™ Z-45
< E 9 |
|
l ——
@] | [@] @ || @] e
~ ] ’/SW-10
= N
o [J_J] o hJ] \\
| A2 m
SW-10
+0,3 +0,3|
28,8 28,8
40 40
sk HiBY RS 3=
S | #5101 S 202 EEM 33-56/-57/-58/-59/-60/-61
“1°r- 205 £ 1 230 hite R
' i 4 EXa) e fi S
m % £ 3 Eifs i o i
8 S )
®10 $10

EEM 33-56/-58/-60 EEM 33-57/-59/-61

$HEH1E:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926

PRALE :www.cnnovo.cn. www.cnnovo88.com
BB #E:nwtk5@cnnovo.cn
BEAA:FET13114891271



7. ~_\+;‘ Z‘% = . }6 .
RAFHREL BCHAARAD | i

Siedle Group
BEEN LS1-0025 LS1- 0050 LS1-0075 LS1-0100
BSSH BT
ENS i 25 50 75 100 mm
it Lk < +041 < +0.15 % FS.
WA MAL +05 mm
LIRHERS 0.1 ... 10 VDC( FL AR i T & BT 470 kQ) /ML > 10 kQ
VIR A 10 ... 0.1 VDC( B At 15 S 8 BT 470 kQ) die/ M BT > 10 kQ
4 ..20 mA (fi#k <500 Q)
20 ... 4 mA ( f1# < 500 Q)
FL LA P PR BT 120 Q
B R SR R K 30 VDC WL 5 HE LB AR5 (AR )
Kl A > 950; B > 50 Hz
WA EEARX <10mV, #@H <3mV mvV
LB < 5mv, i <2mVv mv
EBI < 16 PA, K <5 PA A
EHBIK < 8 A, M <3 pA HA
TAEHLE 16 ... 30 VDC
TAER)E DB K 10 % Vss
T G B R T FE <1 w
i AR <50 ppm/K
AR <40 (KA) VDC
BB, IR 1) HL R PR Up 10 Upa VDC
#s %Lt (500 VDO) >10 MQ
HHSH
AhsekIE (R5FA) 63 94.4 134.4 166 +1mm
LR (RS B) 30 55 80 105 + 1.5mm
i
LG 120 150 180 200 g
sk 86 107 132 150 g
A puk L FF 25 36 48 57 g
TAESZTy (RFJ510)) <25 <25 <25 <25 N
TAETIRZ N (KET5 1)) <5.0 <50 <50 <5.0 N
Asiti 1k SR TAEZ ) K5 N
K TAE R 18 14 11 10 Hz
5] 78 SR T foe K Se v AR 140 Nem
HEESH
T ARG Wredk -40 ... +85 °C
L4 -30 ... +100 oG
LA 3 76 0..95 (Fivit) %R.H.
HinpitibridE DIN IEC 100 (11 ms) ( ik ) g
YidrakrdE DIN IEC 20 (10 ... 2000 Hz, Amax = 0.75 mm) g
5 41245 4% IP 40 DIN EN 60529
R AR E 5 m/s
R A n i g 5 g
Fdr >100 x 10° "
MTTF (ISO 13849-1, J& i # 1 Bt ¥ ik 24 F
2 CE- trfE
FIRL g RF % 5% EN 55011, class B
DU bRk ESD EN 61000-4-2

iRt EN 61000-4-3
[55# EN 61000-4-4
RF 1% Stk EN 61000-4-6

$HEH15:022-89887198-8003/23712219-8003

{£H:022-89887199/23727926

PP 3LE :www.cnnovo.cn. www.cnnovo88.com

BB #E:nwtk5@cnnovo.cn
BEAA:ET13114891271



RF 5 KA 50 B B AR R F]

novotechnik

Siedle Group

1T A% 5 AR

TORESLF A E R, 3PS B N
IEE MR IR B0 28

BEEO
4: Bfilhbin

EEEHESED 4 _
1. WEHI
2. W4

BNREEEHED 41_

1: 0VDC ... 10 VDC (it i Bt )
2: 10VDC ... 0 VDC (i ki)
3: 0VDC ... 10 VDC (it k)
4: 10VDC ... 0 VDC ({Edi#i )

BINREREHED 42_

1: 4 mA ... 20 mA (F5HEX)
2: 20mA ... 4 mA (EEiBi)
3: 4mA ... 20 mA (I )
4: 20 mA ... 4 mA (IiRE )

B EE
101 3%FM8x1 Bk, Al
202: NThHRAE2R WL, Hnasin

L s 1 - 01 0 0 - 0O - 4 1 1 - 1 0 1
TEEETEE
FrifE R B A4
B3 0025 mm%0100 mm 002: Vi AL PR
TERNBEE AL

o 2N Z-45 TIIE, 44 MAx10 BRET
o 1 AR ZURE 4 ik o5,

HRHE Z K B ZE 7
o AFRIMEFR, WAESRS, . AFEskiegis i X

$HEH1E:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926

PRALE :www.cnnovo.cn. www.cnnovo88.com
BB #E:nwtk5@cnnovo.cn
BEAA:FET13114891271

o 4AZ3-31RIIE, & 44 MAx10 BRET
YR s 059010

o ERfh Z-R50, F“fhgwT: 005678

° 3% M8x 1 MEAEHSL, H PURDlALSE, 3x0.256mm?

2 kg5, WS EEM 33-56, FmigmS . 005602
5kHdi, M. EEM33-58, %S 005604
10 kHL45, W5 . EEM 33-60, FM%%S: 005606

o 3%FM8x 1 MAE:, 4 PUR Bl 45, 3 x 0.25mm?

2 k®4E, WES. EEM33-57, 45 : 005603
5kMgE, S, EEM 33-59, FE&4nS. 005605
10 kgg, 5. EEM 33-61, fM4m%S . 005607



	无标题

